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IMPORTANT NOTICE 
 

Aspects of the worked examples using a calculator may 
not match the keys of your calculator. 

 
Please check the instruction manual (if necessary) to 

make sure you are using the correct keys 
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RIGHT ANGLE TRIGONOMETRY (Sheet 1) 

In trigonometry, the naming of the sides is in relation to the angles of the triangle. 
 

 
 

 

Hypotenuse 
The hypotenuse is the longest side 
of the right triangle. It is opposite 
the right angle. 

The Right Angle is the largest 
angle in a right triangle. It is 90 
degrees. 

Adjacent 
The side adjacent (next to) the 
angle. The adjacent side is one of 
the sides that form the angle. 

Opposite 
The side opposite the angle. The 

opposite does form the angle. 



(The angle.) 
 is a letter of the Greek alphabet. 
It is a pronumeral that is often 
used in trignonometry, as are other 
letters of the Greek Alphabet. 

Hypotenuse 
The hypotenuse is the longest side 
of the right triangle. It is opposite 
the right angle. 

The Right Angle is the largest 
angle in a right triangle. It is 90 
degrees. 

Opposite 
The side opposite the angle. The 
opposite does form the angle. 

Adjacent 
The side adjacent (next to) the 

angle. The adjacent side is one of 
the sides that form the angle. 


(The angle.) 

 is a letter of the Greek alphabet. 
It is a pronumeral that is often 
used in trignonometry, as are other 
letters of the Greek Alphabet. 
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RIGHT ANGLE TRIGONOMETRY (Sheet 2) 

The trigonometric ratios are formed by dividing each of the sides of the right angled triangle by each of the 
other sides. 
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Reciprocal Ratios 
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There are 6 possible ratios. In this work we only consider the first 3, which have been given names. 

 
Abbreviation of Trigonometric Ratios 
In common usuage, each of the trigonometric ratios are abbreviated. 
 

Full Expression Abbreviation 

Sine Sin

Cosine Cos 

Tangent Tan 

 
 
 


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Sin 
is pronounced 

Sine 
(i.e. Sign) 
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RIGHT ANGLE TRIGONOMETRY (Sheet 3) 

Calculation (Using Calculator) 

Eg. Evaluate sin58° 
 
Solution 
 
   Sin 58° 
= 0.8480480962     
= 0.848 (3 dec. pl.) 
 

Eg. Evaluate 5tan32° 
 
Solution 
 
   5tan32° 
= 3.1243467595 
= 3.124 (3 dec. pl.) 
 

Eg. Evaluate 
3.1

63cos8.4 
 

Solution 
 

   
3.1

63cos8.4 
 

= 1.676272614 
= 1.676 (3 dec. pl.) 
 
 
 

Finding a unknown side 

Example 1 
 
 
 
 
 
 

 

Example 2 
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Example 3 
 
 
 
 
 
 

 

Example 4 
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a cm 

50° 

5 cm 
b cm 

41° 
25 cm 

t m
400 m 

27° 

The arrows 
point to the 

Opposite side 

b cm

6.8 cm 
62° 

Using calculator 
sin 58 = 

Using calculator 
5  tan 32 = Using calculator 

4.8  cos 63  1.3 =  
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RIGHT ANGLE TRIGONOMETRY (Sheet 4) 

Calculation (Using Calculator) 
Eg. Find  if sin ° = 0.5 
 
Solution 
 
   sin ° = 0.5 
 = 30°     
 
 
 
 
 
 
Note 2nd sin gives sin-1 
 

Eg. Find  if cos ° = 
8

5
 

Solution 

   sin ° = 
8

5
 

 = 51.31781255 
 = 51° 

 
 
 
 
Note 2nd cos gives cos-1 

Eg. Find  if tan ° = 
1.8

6.5
 

Solution 

   sin ° = 
1.8

6.5
 

 = 34.65835471 
 = 35° 

 
 
 
 
Note 2nd tan gives tan-1 

Finding a unknown Angle 

Example 1 
 
 
 
 
 
 

 

Example 2 
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4 cm 

° 

5 cm 
18 cm 

° 
25 cm 

200 m
400 m 

x° 

The arrows 
point to the 

Opposite side 

11.2 cm

8.6 cm 
a°

Using calculator 
2nd sin 0.5 = 

Using calculator 

2nd cos 5 
c
b

a  8 = 

Using calculator 
2nd cos ( 5  8 ) = 


